normalized x?

1072

107

10

[[normalized x? probability ]

0.16}
0.14

0.12

Ratio

. Entries 124
_ | Mean 0.3656
Std Dev.

92 4 6 8 10 12 14 16 18 20 %% 0.10.20.3 040506070809 1
X2 Prob(x?)
— 5 :g:m;a ECTOT_TUUUEVT
— D ted4_T1000evt
s DOM—fit_cpeOK_1000evt
s DOMfit_cpeOK~SORTRZ2_1000evt
s D! fit cpeOK_SORTRZ2_ TESTOUTLIER4 1000evt
A5 = S
5 -
< A 4F
iy - E
< .
\Y a" E.
o 25
v E
OF -
-1 .
_2;—
SO | 8 e 1 S
_4;_ ...E. .....
=F i
o o =5 *
T T
o 14 2F
1.5
-3 1 0 2 3
TP n (PCA to beamline)
A A 2r
i 2 1.8F-
% < 1.6F-
v Vo14F-
1.2F
-
0.8F-
0.6F
0.4F
0.2F
2 o @
i I
v @
0.5
073 . .
10 107

T

< op/p. > (%)

Ratio

1

-1
AR(track, jél’[?



	Contents
	Page 1


